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 ����
 ���������� ��v �#� 
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2.1 I
����� 
	�
��
� ��	������
 (�����
 ����) 

 

 � ���
o� �o#�	

o�o�	� �
v 	����� �	������
 ���  !�o� 
  

����
 	�v��  �o
� ����o�
  ��� �o ��%o
o 	�v�� ��	�!v  ���v
�o. 

� ���
o� ��o� �v�
��
  �	��v	��� ��o ����� 2.1. �� ����	�	�� 

%������ ��	�����	� 	�v��: 

  1-2 ��	v��o���� �����	�
 

  2-3 ��!o��
 ��!��o�
 $	��!�
��� 

  3-4 ��	v��o���� 	��!v��
 

  4-1 ��!o��
 ��!�&�
 $	��!�
��� 

'o 	��� !�	vo �	���! 	�v�� ���v��! ����o ��� ��o$��o��	 ���$	��� 

Cp=1.0048 KJ/kgK, Cv=0.7177 KJ/kgK. 

 (�o��	 ��! �
v $	��o��v����� ��� ��� �v����� ��	�����	� 

  

 Qin=Q23=mCv(T3-T2) , Qout=Q41=mCv(T4-T1) 

 

)�!vo� �����	�
�   P2/P1=r
� , T2/T1=r

�-1            

)�!vo� 	��!v��
�  P4/P3=(1/r)
� ,  '4/'3=(1/r)

�-1   !�o� m  
  �� � 

�o� ���v��o� �	��o� ��ov ��
�v��o. �  
!�o� �����	�
� o�� 	��� 

r=V1/V2. "�
v  �	������
 ���� o� 
!�o� �����	�
� ���  	��!v��
� 

	�v��  ��o�  ��� 1/r = V3/V2 = V2/V1 . 

� $	����� ��!�o�
 ���o� �o� ���
o� 	�v��  

 

               
 = Wout/Qin =  1 - Qout/Qin 

��� ��
���o�o��v��� ��� �v����� ����	�� ��� Qin ��� Qout ��o��	 



 

 

 
 2.2 

 � ��!�&�
 �o� ���
o� �o� �''� 	*�������  ��! ��� ��������o�� � 

��� r. � �	��%o
� �o� n �	 �
v �	��%o
� �o� � ��� r  

�	�����+ov��� ��� ������� 2.2 ��� ��� ������ ���� �&� � ��� 

�
������ ������� ������&�/���� 	�#�� 1.35. �� ��o�!�	�� ����� 

	�v�� ��	�!v ���
���	� ��! !�� ���� ����������� �
��v�� !�o�  

�����o�v ���%��, ���
	�� $	��!�
��� ��� ����	��� ���������! 

������o (Stone, 1985). 

 

 

2.2 I
���	�
 
	�
��
� ��	������
 (DIESEL) 

 O ���
o� �ov�	

o�o�	� �
v 	����� ���v��� �	������
  ���  

!�o� 
  ����
  	
���	���  ����  ��!�ov  ���	 �o �����!  ����� 

�o� ��!vo� 	��!v��
� v� 	�+�v� 	��� ��!  ���$	�� ��	�
. � ���
o� 

 ��o� �v�
��
 �	��v	��� ��o ����� 2.3. �� ����	��� %������ 

��	�����	� 	�v��: 

 1-2 ��	v��o���� �����	�
 

 2-3 ��o%���� ��!��o�
 $	��!�
��� 

 3-4 ��	v��o���� 	��!v��
 

 4-1 ��!o��
 ��!�&�
 $	��!�
��� 

(�o��	 ��! �
v $	��o��v�����: 

 Qin = mCp(T3-T2) 

��� ��� �o ��!vo 	��!#��
�: 

!�o� 	����	 o���	� �
v �����	��& %=V3 / V2. 

 "' ���� �
v �	������
 
 ��!�&�
 	�v�� 

��	���  ��v�$��  ��o��	  ��v  �	��%

��  �
v   $	��!�
��  

��!����
�  ��o�o��	 v� 	�+���o��	 �o % �� 
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 2.3 

!��� %
��o��	 o %�$�!� ��!�&�
� �o� ���
o� Diesel 	*������� ��! 

 �o �, �o r ��� �o Qin (+o���o). 

 

 

2.3 �I���
 �����
 

 �� �����ov	� �
��v�� CI �	v ��o
o�$o�v o��	 �ov ����o o��	 

�ov �	��	�o  ���
o  �

�  
  ��!��o�
  �
� $	������  	v���	��� 

��v	���  �	�����  ��!  ���$	�!   !��o  ���   �	�����  ��!  

���$	�� ��	�
, Khovak (1976). � �����	����!�  �
�  ��o����!�	v
� 

 $	��!�
��� (��& x,2.5, ����� 2.5) ��
# ���*
 ��$o�� 	��� ��! 

�
v 	�
o�� �o�  ������o�, �o ����
�� �����
�, �
v �	��	���� �
� 

�
��v�� ��o�! �ov  �
	��o �
� ������
� ��	�
� ��ov ���
o. -�' 

���! o  ���
o�  �v�+��	��� ��v ���
o� �	��o�����v
� ��	�
� � 

����!� (dual). � ���
o� ��o� �v�
��
 �	��v	��� ��o ����� 2.5. 

(�o��	 �
v ��!
o�$
  ���+o�� ���� �ov  ��!vo ��!��o�
� �
� 

$	��!�
���: 

 Qin=mCv(T2.5-T2)+mCp(T3-T2.5) 

 

O ��!vo� 	��!v��
� ��$o�� 	��� ���!�o�� �	 �
v ��o
�o��	v
 

�	������
 ��$o�� ov��� �o %=V3/V2.5. ��$o�� o��	 �=.1/.2 ��� 

%����o��	 !��  

��� �����
�o��	 !�� ��� �	�o��vo  Qin ��� r   �� � ��� % �	v 

	�v�� �v	*���
��, �

�  �-1+��(%-1)=���$. 

� %�$�!� ��!�o�
� ���	��� ��! �
v ����
 

'o �	��
��	�& ���o� �
� ����
� $	��	���� !�� ��v	��� ��o!���� o 

�	 %�$�!� ��!�o�
� ��*�v	� �	 �
v ��*
�
 �o� �. /��+o�� ov��� �
 

����
 ��v �,% ��o��	  
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1
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1-
11

i.n
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�
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 2.4 

 (�-1)d� + �%d� + ��d%=0 

�  d%/d�=-(1+�(%-1))/�� 

 /��+o�� ov��� �
v 	*����
 �o� %�$�o� ��!�&�
� ��� ���+ov���  

Q=Qin/CvT ��o��	 !�� 

Av����$����v��� �o d%/d� ��! �
v ������v� ����
 ��o��	 !��, 

Q(dn/d�) = %�-1(%-1)(�-1), ��� 	�	���  %,� > 1 ����	���vo��	 !�� 

o %�$�!� ��!�o�
� ��*�v	�  �	 �o �.      

 

 

2.4 
������� �����
� ��� ������ 

 'o ��������� P-V ���� �
��v�� 
��	��� ��� 	v�	�����! 

��������� ��� 
 	��+�v	�� 	v�!� �o� ���
o� 	�v�� �v� ��
! ����o 

�o� ���o� �o� �����	��� ��! �o ����o (	v�	��v���vo ���o). 'o 

���o �o� �����	��� ��! �ov ���o+�
o+!�o �*ov� 	�v�� ����!�	�o 


!�� ���%�v ��� 
��	��� ���o �	���	��. ����� ���� 
o��!v 

��o
o�� ��	 �
v 	v�	��v���v
 ����. ��! $	��o��v������ ��o0
� o 

%�$�!� ��!�o�
� ��� �o ���o �v� �ov��� �� 
� �o� �	��o� 	�v�� o� 

����	� �����	��o� 	v���+��ov�o�. ��+�� ov��� �o ���o ��v ��� 

	v������ (�v� �ov��� �� ��) $	��o��v����� ���!�
�� %o
$� ��!�� 

��� �	����!�	�� ��������� 
 �v�
��
 ��$������� �v	*���
�
 �o� 

�	��$o�� �o� ��������o�. ��� ���o�� ��o������
 $� ���v 

���vo�o�
���� ��� ��� ��� ���, 	�v �o ���	$o� �
� �
��v�� 

	*������v ��! �
v �� � �	��o� ��ov ��
�v��o. 1��� $� �o��	 

���!�	�� 
 �� � �o� ���� ��ov ��
�v��o �	����� +o��� 

�	��%�

	��� ��� v� 	
	��$	� �o +o���o �
� �
��v��. (��� 	�v�� 

����



!�	�o v� ������vov��� �
��v�� ���+o�	���o� �	��$o�� 

��v�����	� �o� ���o� �v� �ov��� !��o� 	��!���
�. 'o ���o ���! 

	�+�����vo �	 �ov��	� ��	�
� 
��	��� ���
 	v	��!� ��	�
, �	�, 

(mean effective pressure, mep) 	�	��� ��o�	� v� $	��
$	� ��v �
v 

���$	�� ��	�
 �o� 	+���o !�	v
 ��o ��%o
o ���� �
v �����	�� �o� 

��!vo� 	��!v��
� ���	� �o ���o �o� ���
o�. � 	v�	��v���v
 ���
 

	v	��!� ��	�
, imep ��� !
o�� �o�� ���
o�� ���	��� ��! �
v  
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 2.5 

 

��+���
 

 

� 

 � �	����o�o�
�
 �
� mep ��v���� ��� ����!�	�
 ��� 

	
�+���	�
 �
��v� �o� �����	� �v� �	�o��vo ���o. 2����o�v 

	�+�v�� ��o ��!�o� v� 	���	��$	� ���! ("������ 2.2, 2.4): �	 

��*
�
 �o� 
!�o� �����	�
� ��� �	 ��*
�
 �o� $	����o� +o���o� 

	��!�o�. 2����o�v !��� �������o� �	��o����o�. -�� �
��v�� SI o 


!�o� �����	�
� ����	� v� 	�v�� ���	�� ���

!� ��� v� ��o+	��$	� 


 ��o������ ����
 (knock). -�� �
��v�� CI 
 ��*�v!�	v
 ���%� 

�	��&�� 	� �
v ��
���!�
�� �
� ��*
��v
� �����	�
�. 3

o� 

�����ov�	� !��� 
 	��o��� �����	���v ��� �o *	��v
�� �
� �
��v�� 

	�
�	� o�v �
v 	��
o�� �o� 
!�o� �����	�
�. ��! �
v �


 �	��� 

��*
�
 �o� Qin $	��
���� ��o�	� v� 	���	��$	� ����� !��o ���� 

��*
�
� �
� ���o��� �o� ������o�. "	 �
o���� ������� !��� �	v 

��o��	 �
��
 ����
 ��� �	v 	��	��

	�!����	 �
���� �o ������&. 

�v ��v	� o� ���
o� ����-������o� �o� $� �o��	 ���!�	�� 

�ov�	

o�o�o�v 	������ ��� �
������� �
��v�� SI �o� 
 ����
 

	�v�� o�o�o�	v�� �

� �	v 	�v�� �!�o ��
���o� ��� �
v 

�ov�	

o�o�
�
 �
� ����
� ���� �
��v�� CI �	 �����
 ������o� 

!�o� 
 ����
 	�v�� 	�	�o�	v�� (��+����� �o� �ov�� ��o spray). 

"��+�v� �	 �o� ���v��o�� ���
o�� �	��o� (��� 	���
� ��o�� 

���
o�� ����-������o�) ��� �	�o��vo $	����! +o���o Qin ��� 

�����	�
 r ����	� 
�''�>
DUAL>
DIESEL. -�� �	�o��v
 !��� ������
 

��	�
 ���
o� Pmax ����	� �o �v��$	�o (Lichty, 1967). 

 

 

2.5 I
�������I � 
���	�
���� �����I ��	� 

 (v�� o�����vo� ���
o� ���� ��v�$�� ��
���o�o�	���� ��� v� 

 
1 - r

r

TR

P Q
 = 

1 - r
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 = imep
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1i.n

121
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1 - r
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V
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i.n
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 2.6 

��o�	����	� 
 #� ������$	� �	 �v� ���������! ���
o. � ���
o� 

���� �o� ��o�o�o�� 	� �v� �o$�v�� ���������! ���
o ��
	���� 

��o��v��o� ���
o� ���� (Ferguson, 1986). � ��o��v��o� ���
o� 

���� ��	� 	v ��v	� �� ��!
o�$� �o�v� ������
������� �	 �ov 

���������! ���
o �o� �v��������: ���� �	��� ��	������#, ���o 


!�o �����	�
�, ���� ��	�
 ��� $	��o������ �	 �v� 	��
	���vo 

�
�	�& ��� ��� ����




 ���� ��o����!�	v
� $	��!�
��� (�v� 

�ov��� �� ��). "�� ������ 	�!�	v� �	+�
��� $� 	*	���o��	 ��� 

�
����� ��v ���
�v ����, ��� �	��� ��! ��� ����	� �o� ��o��
o�v 

��� ���+o��� �	��*� ����������v ��� ���v���v ���
�v ��� $� 

	������o��	 �ov �
��
 ���v��! ���
o ����	��
��%�vo��v�v ��� ��v 

���v���v ��	������v 	�������� ��� 	*������ ��� ��� �	�����ov	� 

��� ����ov	� �
��v��.  

 

2.6 �	��I�� ������������� (
�
�	�
���OY XRONOY) 
	�
��
� 

��	������
 

 1
o� o� ��o
�o��	vo� ���
o� �����v ��o�	
������ �o� 

	�+����
��# �	 ��� 	*����
. '��� $� �	
	���o��	 �
v 	����o� �o� 

��	� ��
v ��	������ 
 ��ov��� �	��%�

!�	v
 (o �	�	�����#&� 

��ov���!�) ��!��o�
(�) $	��!�
��� !�&� 
 ����
 
��%�#	� ���� �	 

��� ��#�� $s ��� �����	� 	�� ��� ��#�� $=$s+$b, ��. 2.7, 

(Campbell, 1979). "�v�$�� �'����v �
v �	������
 
 ��!��o�
 

$	��!�
��� ��o�	� v� 	�v�� ��v���
�
 �
� ��v��� �o� ���o+�
o� $. 

4.�. ��	� %�	$	� !�� ��� SI �
��v�� ����	� 

!�o� x 	�v�� �o �
���� �
� ��	
	�$	�o��	v
� $	��!�
���, $ 
 

��v�� �o� ���o+�
o�, $s 
 ��v��  !�o� ���� 	� 
 ��!��o�
 

$	��!�
��� ��� $b 
 �����	�� �
�. � ������v� 	*����
 	+���! 	��� 

�!vo ���� �
v �����	�� �
� ��!��o�
� $	��!�
��� �

��� 

$s<$<$s+$b. M�� �


 ��v���
�
 (�&� Wiebe) �o� 	���
� 

��
���o�o�	���� 	�v��: 

 ])
) - (

( - 1[
2

1
 = x

b

s

�
���

cos  (2.1) 

 exp
s

b

n - 
x = 1 - (-a(  ))

� �
�

 (2.2) 



 

 

 
 2.7 

!�o� $b 	�v�� 
 �
����� �o� ��!vo� ��!��o�
� $	��!�
��� �

� 
 

�����	�� �
� 	�v�� ���o�o �o

��
���o �o� $b  (��#�$�� a=5 ��� 

n=3). H 	*����
 2.2 	+���! 	��� !��v x 	�v�� ��	�!v 1 ��� 

��������� 	+���o���. -�� ��$	 ��� ��! ����� ��� ��v�����	�� o� 

�����	��o� $s ��� $b !��� ��� o 	�$��
� n 	�����v��� 

�	���������. �� ��o$��o��	 !�� 
 ����
 x=x($) 	�v�� �	�o��v
 

("���� 2.7). '!�	 ��o�o��	 v� ��vo��	 �
v �������� �v�
��
: 

    PV=mRT                    (2.3)  

4���vov��� �ov 
o����$�o ��� ���+o�� ov��� �� ��o� $ ��o��	 

� ����o� v!�o� �
� $	��o��v������ �	 ���+o���� �o�+� ���	� 

/����o��	 �o �����	�! ���
o� �	 mRT ��� �o �	*�! �	 PV 

��! ��� 2.5 ��� 2.6 ��� 	�����v��� dQ=Qinxdx ��o��	 !��  

"�v�$�� ��������o�o�o��	 �	 ��� ������� ��#$��	� ��& 1 �� 

��o
o�$�� 

o�!�	 ��o��	  

� !��o� V ��� 
 �������o� dV/d$ 	�v�� �v����� ��v�����	�� �
� $. 

-v��� ov��� �o x($) 
 dx/d$ ��o
o�� 	��� ��� ��v	��� ��� 

�	�o��vo � ��� Q 
 	*. 2.9 	�v�� �
� �o�+��  

 
��� d

dT

T

1
 = 

d

dV

V

1
 + 

d

dP

P

1
   (2.4) 

 
��� d

dV
P - 

d

dQ
 = 

d

dT
 cm v   (2.5) 

 )
d

dV

V

1
 - 

d

dQ

PV

1
(1) - ( = 

d

dT

T

1

��
�

�
  (2.6) 

 
indP P dV Q dx

 = -  + (  - 1)
d V d V d

� �
� � �

 (2.7) 

 
VP

Qin
 = Q    ,

V

V
 = V    ,

P

P
 = P

1111

~~~
 (2.8) 

 
�

�
�

�
� d

dx

V

Q
1) - ( + 

d

Vd

V

P
- = 

d

Pd
~

~~

~

~~

 (2.9) 



 

 

 
 2.8 

�o� 	�v�� �������� ����
� ��*
� ���+o���� 	*����
 ��� 
�v	��� 

���$�
���� ��� 	��o
�. � 
��
 �
� ���	� �o P($), "���� 2.7, �o 

o�o�o 	������	� �ov ��o
o����! �o� ���o� �o� ���
o�, �
v imep 

��� �
v 	v�	��v���v
 ��!�o�
 
. 

 �� �v����� ����	�� ��o���$o�v ���� 	#!� �&#&�������&� 

�&#��
&� v� ��vo�v ��� ����
 �ov�	

o�o�
�
 �
� ��ov��� 

�	��%�

!�	v
� ��!��o�
� $	��!�
��� �

��� �o� ��ov���o� �
� 

����
� ��� o� �v����� �vvo�	� $� �v�
�$o�v �	������� ��o 

�	+�
��o 9 �
� ����
�. 'o �
���� �
� ��o����!�	v
� $	��!�
���, 

x, ������� �
 ��!&�& �
� ����
� ���+�v� �	 �
v $	��
�
 �
� 

��oo�	������ ����
� !�o� 
 ��ov��� �	��%o
� ��v P ��� W 

	�+�� 	��� �v�
o�� �	 �ov ��ov���! �
� �v���
� ($s, ��&�&�	��, 

spark advance) ��� �
v �����	�� �
� ����
� ($b, combustion 

duration). 

  

2.7 �	��I�� ������������� �
���I� ��	������
 

 � 	*����
 2.6 ����	� �v	*������� �o� �v �o dQ 	��
v	�	��� 

��v ��!��o�
 $	��!�
��� ��! �
v ����
 � ���
	�� $	��!�
��� ��! 

�� ����� ��o� �� ����v�� �o� ��
�v��o� (�.�. 
!�� �	��+o��� 

$	��!�
���). ��� o� ��o �v����� ��$�v!�
�	� ��o�o�v v� 	����$o�v 

��o �ov��

o �
� ��ov���� �	��%o
�� �
� $	������ ��!��o�
� �v 

���0o��	 

  

                  dQ=Qinxdx-dQl                       (2.11) 

 

!�o� Ql=���
	�	� $	��!�
���. 4���	� %�%��� v� �v��� o��	 ��� �ov 

��v�	
	��� �	��+o��� $	��!�
��� (film coefficient), h, (��� 

�	+�
��& 8) ���� ���	  

!�o�  � 
 	��+�v	�� �o� ��
�v��o� �	 	��+� �	 �o ����o ��� 'w 
 

$	��o������ �o������o�. "'����v �
v ��+���
 ��o�	� 	���
� v� 

�ov�	

o�o�
$	� ��� 
 �	��+o�� $	��!�
��� ��'������ ��! �o 

 )P,f( = 
d

Pd ~
~

�
�

  (2.10) 

 ) T - ThA( = 
dt

Q
d w

l                 (2.12) 

                   



 

 

 
 2.9 

����v�o. E����o��	 ��� ��������	� ��������o��                   

                               

!�o� �o 	�v�� 
 	��+�v	�� 	��+�� ��o 'DC (�5"). '!�	 
 ��������
 

���
	�� $	��!�
��� 	�v��  

��� �	 �v����������
 ���� 2.6 ��� 2.7 ��� ���	� ��� ��+���
 �&� 

P=P($) �o� ���� �	��
��%�v	� ��� �
v 	������
 ��v ���
	��# 

$	��!�
��� 

(��� �v� ��!�
 ��o��	�o, �o� ������
�� 	� �
v 
	��o����� �
� 

����������� �
��v��, 	����	��� ��o �����! �ov��
o. 

 

 

2.8 �	��I�� ������������� �
���I� (�I�		��) �I�����
 ��
� ��� 

�����	I�� ��� ������� 

 ���� �
v �����	�� �
� 
	��o������ �
� �
��v�� ��!�� ��� 

!��v o� %�
%��	� 	��������/	*������ 	�v�� �
	����� �����	� ��� 

�����o� �o� 	��� !�	vo� ������o� (�o� 
��	��� ��� �!���
 

(charge)) �o� ���+	��	� ��! �ov $�
��o ����
� ���� ��v �����
��v 

��	��v!�
��� ��ov ���o+�
o$�
��o (crankcase). ��$�� 
 �� � ��ov 

$�
��o ����
� �	v 	�v�� ��� ���$	�� 
 	*����
 2.4 �	v ����	���� 

����	� v� *�v����+	� �� 	*�� 

��� ���o�o��� o ����o� v!�o� �
� $	��o��v������ �	 ���+o���� 

�o�+� 	+���o !�	vo� �	 �vo���! ����
�� ��� ���	� 

 

)
b

V
-4A(b

V4
=  ,

VP

)
b

V
-4A(

Th=h  ,
VP

Q
=Q  ,

T

T
=T  ,

VP

Q
=Q

o
o

1

11

o
o

1

11

l

l
111

i.n �
�

~~~~
 

 

 ) T - VP()V + (1h = 
d

Qd
w

l ~~~~~
~

�
�

 (2.13) 

 ])T - VP()V + (1h - 
d

dx
Q[

V

1)-(
 + 

d

Vd

V

P
- = 

d

Pd
w

~~~~~~
~

~

~

~~

�
�

�
�

�
�

 (2.14) 

 
���� d

dT

T

1
 + 

d

dm

m

1
 = 

d

dV

V

1
 + 

d

dP

P

1
 (2.15) 



 

 

 
 2.10 

!�o� ml 	�v�� o ��������o� ��$�!� �����o�� �� �� (blowby rate) 

��� $	��	���� ��v�o�	 	*	��!�	vo� �o� $�
��o� ����
� 

�	��+��ov��� 	v$�
��� cpT. �	��*� 2.15 ��� 2.16 ���
	�+o��	 �o 

dT/d$ ��� ��o��	 

� ���
	�+� �o� dm/d$ �����	� ����
 �
� 	*����
� �
� ��v��	��� 

��� �
v ������
�
 �
� �� �� ��
v ����	�����v
 �	������
 

 
�����o��	 �
v ���$	�� C=ml/m ��� ��
���o�o��v��� �
v 2.11 
����
��o��	 ���� �
�ov �	#���� 	�+���	�� 

 

�
�

�
�

�
�

�
�

PC
 - )]T - 

m

VP
()V + (1h - 

d

dx
Q[

V

1)-(
 + 

d

Vd

V

P
- = 

d

Pd
w

~

~
~

~~
~~~

~

~

~

~~

               (2.19) 

 

�� d

Vd
P = 

d

Wd
~

~
~

                                                (2.20) 

  

 

) T - 
m

VP
()V + (1h = 

d

Qd
w

l ~
~

~~
~~

~

�
�

                                        (2.21) 

 

��
m C

- = 
d

md ~~

                                                 (2.22)  

 

 

 

 

�� �v����� ����	��� ���+o����� 	*����	�� ��o�o�v v� 
�$o�v 

 
�����

Tcm
 - 

d

dV
P - 

d

dQ
 = 

d

dm
Tc + 

d

dT
cm

pl

vv

�
 (2.16)  

                        

 
m 

m 
 - 

d

dQ

V

1)-(
 + 

d

dV

V

P
- = 

d

dP l

�
�

�
�

�
�

�
�
     (2.17) 

 
��
m

- = 
d

dm l�
 (2.18) 



 

 

 
 2.11 

�����!v�� (Campbell, 1979, Ferguson, 1986) �	 �	�o��v
 �
v 

�����	��o C �o� $� ��$o���o��	 �	 �

o �	+�
��o ��� 	*������� 

��! �� �	�v��� ������
������� ��� �ov ��	�����! ��v �����
��v 

��	��v!�
���. ����
� �����
�����	 !�� 	�v�� ��v��! 
 	*����
 

2.22 v� o
o�

��$	� �v�
����� ��� v� ���	� 

 

]
)+(C-

[ = m
�

��
exp

~  

2.9 ���	��	��� �I�	��
I� �� ��
����� ��� ������� 

 "�o�� ��o
�o��	vo�� ���v��o�� ���
o�� $� ��o�$��o��	 ���� 

��� ��� ��	�����	� 	��!�o� ��� 	*!�o�. 6� ��o$��o��	 !�� �o 

$	��o��v����! �	���! 	�v�� ��
	�o ����o, !�� �o ����� ���! �	v 

�

� 	� ��v$	�
, !�� o� �	��%o
�� 	��!v��
� ��� �����	�
� 	�v�� 

����%������ ��� !�� o� %�
%��	� �vo��o�v ��o TDC ��� BDC. 6� 


�%o��	 	���
�ov ��'!0�v  ��� !�� ���� �
v �*o�o �o� �	��o�, �v� 

��!
o��o ������v	� ��ov $�
��o (residual gas). �� ���������	� 

�	��vov��� ��� ������� 2.8 ��� 2.9(Taylor, 1968, Ferguson, 1986) 

 � %�
%��� 	*������ $	��	���� o�� �vo��	� ��o BDC ��� 

�
	�v	� ��o TDC. � %�
%��� 	�������� �vo��	� ��o TDC �!
�� 

�
	�v	� 
 %�
%��� 	*������ ��� ������v	� �vo���� ����� �o BDC 

�o� ��!vo� �����	�
�. � ��!vo� �o� ��� o� ��o %�
%��	� 	�v�� 

�vo����� ��
	���� 	����
�0
 (overlap) ��� 	�� $	��	���� �
��#. 

��! �� ������� 2.8, 2.9 ��o��	 ��� ��!
o�$	� ��	�����	� : 

- � ��	������ �o� ��o
�o��	vo� ���v��o� ���
o� 4-5 (��o%o
�     

  $	��!�
��� ��! ���$	�! 	����! !��o (���v!�
��)), $�           

 �v���������$	� ��! ��� 4-5� ��o����� ��o�!v��
�, 

-  5�-6 ��o%��� 	*�����  

- 6-7 ��!���o �
	����o �
� %�
%���� 	*������ ��� �vo���� �
�    

  %�
%���� 	�������� (��%o
o ��o TDC) 

-  7-1 ��o%��� 	������� ��v �����# ��� �	����v
�
 �o� 	�%!
o�  

   "�o BDC. 

"�o ��
o� �o� ��!vo� 	��!v��
� 3-4, 
 ��	�
 ��ov $�
��o 	�v�� 

�	��
��	�
 ��! �
v ��	�
 	*!�o�. "�v	��� !��v �vo��	� 
 %�
%��� 

	*������ �� ����� $� 	*�
$o�v ��!�� ��� �v �o ��%o
o �	v 

   



 

 

 
 2.12 

��v	����. "�v�$�� o 
!�o� .4/.e ��v	� 
�
���� �o� ��
v %�
%��� 

���� ���	 
 ��o�!v��
 v� 	�v�� �o
� ����o�
 ��� 
 ��!o��
 

��!$	�
 v� �����o
o�	����. ���� �
v ��o�!v��
 �	v ��o�+��	��� 

���o 	��v� ��o ��%o
o 	v�  �����	���� ���o ��� v� 	�����$o�v �� 

��������� ���� �
v ��o%��� 	*�����. 

����
� 

       

    

                    /�5�-6=0                               (2.24) 

 

	�	��� ��o��	 ���$	�� ��	�
. -�� ���v��� ����� 
 	v$�
��� 

	*������� �!vo ��! �
v $	��o������ ���� ���	 
 ���������� 	�v�� 

	���
� ��!$	��
 ��� ������	��
. "�v	��� �& �
���� ��o
o��o� 

(�� � ��o
o��o� �	��o� ��o ��
o� �o� ��!vo� 	*!�o�/��vo
��� �� � 

��ov $�
��o ���� �o ��
o� �o� ��!vo� 	��!�o�), f, ���	��� ��! 

�
v ��+���
 

 

 

-�� v� �����o��	 ����	�����v� ��o�	
������ ����	� v� ������vo��	 

����� �	������	�� �o� 	*����v��� ��! �o 
!�o ����	�# 	��!�o� ��� 

	*!�o� ��� #� ��#&��	 ��&
&����! 	#���	��� �	��*� �&� ��
&�� �&� 

��!#&� 	*������ ��� �
� ����� �&� ��!#&� 	�������� (6 7 1). 

  ��v 
 ��	�
 	��!�o� 	�v�� ����!�	�
 ��! �
v ��	�
 	*!�o� 
 

�
��v�  	��� 	��� ��! �	���! +o���o (throttled). '!�	 $� ����*	� 

�o� ��! �ov $�
��o ��o� �ov ��
�v� 	�������� ���� �
v �v����o+� 

��v $��	�v ��v %�
%���v. 1��v o� ����	�� ��ov ��
�v��o ��� ��
v 

	������� 	*��o��o�
$o�v, �o ��%o
o ��o���	� ��� �v���o+� +����o 

����o (�����). ���'����v �v���o+� ��o8!v�� ����
� �o� 	���v ��
 

�����	��	� ��ov ��
�v� 	�������� ���� �
v �v����o+� ��v %�
%���v 

��� ���!��v +����o �����.  

 VP- = PdV = W de

6

5

6 - 5 �
�

�  (2.23) 

               
P

P

T

T

r

1
 = 

v

v

r

1
 = 

v/V

v/V
 = f

4

e

e

4

6

4

44

66
             (2.25) 



 

 

 
 2.13 

 E�v 
 ��	�
 	�������� 	�v�� �	��
��	�
 ��! �
v ��	�
 

	*������ 
 �
��v� 	��� 	��� �	 ��	��
����
 � ���o%�
o�
����
. 

���� �
v �v����o+� ��v %�
%���# �����	� �o� ��! �ov ��
�v� 

	�������� ��o� �ov ��
�v��o  ����� v� ��o��o���o�v o� ����	��. 

"�
v ���������� 
	��o����� 
!�� 	����
�0
� ��
 
	��o����� ��v 

%�
%���# ��o�	� v� ����*	� �o� +����o� ������o� ��! �ov ��
�v� 

	�������� ��o� �ov ��
�v� 	*������ ��� ��v	��� ��o%�

	��� 

������o ������o ��� ���o�. 

  � �	
	����� ���� �	������
 	�v�� !��v o� ����	�� 	�������� 

��� 	*������ 	�v�� ��	�. '!�	 
 �
��v� 	��� 	��� ��! �
��	� 

+o���o (unthrottled, WOT). ��� ���� ��	�� �v����� �	������	�� 

����o�v ��� 	+���! ov��� o� 	*����	�� (Ferguson,1986): 

 

 

 

 

"�#�$�� 
 ��	�
 	*������ 	�#�� 
 ���
 ��! ���� �
� 	��������, 

Pi=2Pe, ��� 
 'e ��&
&�� 	��� �� Te=T4(Pe/P4)
(�-1)/�. 

 ���� �
v �����	�� �
� ����������� 	�������� ���o �����	��� 

��! �o ����o ��� ���� �
v 	*����� ���o ��o�+��	��� ��o� �o 

����o. 'o ��$��! ���o ���� �
v �����	�� ��v ��!v�v 	*������-

	�������� 	�v�� 

 

   W5�-1=(Pi-Pe)Vd                                        (2.28) 

 

To ��v
���! �o����� ���o� �o� ���o� 
��	��� ���o �v�

�
� 

                
P

P

T

T

r

1
 = 

v

v

r

1
 = 

v/V

v/V
 = f

4

e

e

4

6

4

44

66
               (2.25)’ 

      
1)-(r

1 - 
P

P

 - 1 = 
V

m
 = e

i

e

di

i
v

�	
                          (2.27) 

          ])
1-

()
P

P
 - (1 - [1Tf + T)f-1( = T

e

i
ei1

�
�

            (2.26) 



 

 

 
 2.14 

	+'!�ov ��v	��� ��� �
v ��! �	���! +o���o 	��� !�	v
 �
��v�. � 

���
 	v	��!� ��	�
 �v�

�
� o�� 	��� ��v �o ���o �v�

�
� �v� 

�ov��� !��o� 	��!���
� 

 

   pmep=Pe-Pi                                           (2.29) 

 

To ���o o
!�

�o� �o� ���
o�, !��� ��v��	 ��� ��o
�o���v�� $� �o 

��
��o��	 ��$��� 	v�	��v���v
 ���
 	v	��! ��	�
. 

  

  (imep)net=imep-pmep                                  (2.30) 

 

��� 
 ��$��� ��!�o�
 	�v�� 

   

 
net=
(1-pmep/imep)                                  (2.31) 

 

 ��� $� ����	� v� ��	v$����o��	 !�� �o

�� ��! ��� �v����� 

�o�!�
�	� h,u �
� 	�v�� 	�+�����v	� �v� �ov��� �� �� 

(	v�������). "	 ��� �
��v� 	�v�� ��v�$�� �	�o��vo� o 
!�o� 

���o�	�	�!�	vo� ������o� ��o� �v���o+o��	vo� ����. "�o�� 

���v��o�� ���
o�� �	��o� ���! 	�v�� �v�
o�o �	 �o v� ��$o���o��	 

�
v ��o����!�	v
 $	��!�
�� �v� �ov��� �v���o+o��	vo� �	��o�, 

/�R. 

'o ��o����!�	vo �o�! $	��!�
��� ��ov ���
o 	�v��: 

   

 Qin=mf*/�R , !�&� mf=+Fsma                           (2.32) 

 

��� Fs=o ��&��	�&�	����!� 
!�o� ������o� ���� (fuel/air ratio), 

+=& ��	���!� 
!�&� ������&�/���� (equivalence ratio) ��� 

mair=�air(�/4b
2s). 

 "��� ����ov	� �
��v�� ��� o� ��o o��� 	�������� ��� 

	*������ 	�v�� �vo����� �ov�� ��o BDC (�5"). � ��	�
 	�������� 

	�v�� �	��
��	�
 ��!  �
v ��	�
 	*������ ���� ���	 �����	� �o� 

+����o� ���� ma ���� ��ov $�
��o �o� �����v	� �� ��������� ��
v 

	*����� (�����
-scavenging). (v� �!vo ���o� ���o� �o� 

�v���o+o��	vo� ���� (�v�� ��� ���� ��
���o�o�o��	 �o ����� ����-

������o� ��� �
��v�� �	 	*�	�����-carburetor) ��������	���� � 

�����	�	��� ��� ��
���o�o�	���� ��ov ���
o, �o ma
t (�� � +����� 



 

 

 
 2.15 

�	 �v� �	���! ��!
o��o ��! �� ��������� �o� ��o
�o��	vo� 

���
o�). ��� �v�� ��� �
v o��o�	����� ��!�o�
 ��o��	 �	��$
 !��� 

�ov 
!�o ���o���	��
� Dr, �
v ��!�o�
 �����
� es ��� �
v ��!�o�
 

�����	��
� -.  

 

2.10 �����
� ������ �� ����
����
 
�
�����
   

  �v ��v	� 
 �v�
��
 �o� ���
o� ��v ��
�v��o����v �
��v�v 

��v��	� �
v 	v�	��v���v
 ��!�o�
 �	 ��� �	��%

��� r,� (�''�) - 

Qin,$b,$s,n (�	�	�����#
 ��!��o�
 $	��!�
���)- h,%,'w (���
	�� 

$	��!�
���)- C/� (���
	�� �� 
�). � ����������� 	��������-

	*������ 	������	 �
v �����	��& Pe/Pi (4-��ov	�) ��� �o �
���� 

��o
o��o� f (������	�� �
��v���! ��� ��� ����ov	�). 1��� $� 

�o��	 o� ���%�� �o� 	�%!
o� $� 	����o�v ��� 	���
�ov �����	��o 

(Re=Upb/vo, vo �*��	� 
���v���o�). � �ov�	
o�o�
�
 �
� 

����������� ��	������� 	��������-	*������ !��� $� �o��	 

	������	� ��� ��!�
 �	��� 
��	��	�����v ���������v (����	����!� 

���$�o� Mach ���� �
v ��o�o �o� ����-������o� ��! ��� o��� 

	��!�o�-	*!�o�, ����	��o� o��v, ��ov���!� %�
%���#, 

������
������� �����# 	��������-	*������). �v ��v	� �v� 

�
��v���! ��!%

�� ��o�� ���
o�� �	��o� 	�v�� 
 	��
o�� ���� 

�	�
������� ����� ��� �o � ��� �o  /�R (	*. 2.32). -�� �o�� 

���o�ov�$���	� (CH2.5)n ��	� 	��	$	� !�� ����	� ��o�	�������� 

   

 �=1.4-0.16+                                          (2.33) 

 

��� /�R(cal/g)=(+Fs/(1++Fs))10660       ���        +<1  

    /�R(cal/g)=(+Fs/(1++Fs))(10660-930(+-1))  ���  +>1   (2.34) 

  

 ��&�&��	 !���, �v�� v� ��
���o�o�o��	 �
v �v����� 	��	����� 

����
 ��� v� ��o�	����o��	 �o�� ���������o�� ���
o�� ����-

������o� (��o+	��ov��� �
v �v�
��
 �
� ����������� �
� ����
�) 

���� ��v ���
�v �	��o� �o� 	����	 ��o
�o���v��, v� 	��
�o��	 ��� 

�
v $	��o��v����� �
� ����
� ��'	�$	��� !��� $� �o��	 �	 	�!�	vo 

�	+�
��o. (��� �v�� ��� ���  �����	��&�� � ��� Q $� ��o��	 ���: 

�/C (
!�o� ��!��v �/C �o� ������o�), + (��	���!� 
!�o� ������o�-

����), � (�o����! %��o� ������o�), Qnet ($	��o�!vo� ��v��
 

������o�), Qu ($	��!�
�� 	*�����
� ������o�).  
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"���� 2.1 � ���
&� �''� ��� 
 �	��%&
� �
� ��	�
�, P=P($), ��&# 
��
�#��& 
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"���� 2.3 � ���
&� Diesel ��� 
 �	��%&
� �
� ��	�
�, P=P($), ��&# 
��
�#��& 
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"���� 2.5 � ����!� ���
&� ��� �������
 �&� �	 �&�� 
���
&�� �''� ��� Diesel 

 

"���� 2.6 "������	�� ���������# 
	��&������ �
��#�� Diesel, 
Taylor (1968) 
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"���� 2.7  �&#��
& �	�	�����#&� ��$�&� ��!��&�
� $	��!�
�&�, 
�b($), ��� 
 �	��%&
� �
� ��	�
� ��#�����	� �&� $ 

-�#�� ���&+�
&+!�&� 



 

 

 
 2.20 

 

 

 

 

 

 
 
 
 
                               
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

"���� 2.8  )�!#&� 	��������-	*������ �	�����&#
� �
��#��, Pi, 
Pe=��	�
 	��������, 	*������ (Ferguson (1986), Annand ��� Roe 

(1974)) 

"���� 2.9 � ��	������ 	*������ (Ferguson, 1986) 


